3rd Grade Daily Math Review: Week 20

Monddy

Name:

| | We traveled two
thousand, eighty-nine miles.
Whrite this number in standard

form.

2 Round the following numbers

fo the nearest hundreds place.
4,357
987
1113

3 | Find the product.

63x6=

4 | We spent $2,383 on
vacation, but we received a
$287 discount. How much did

we spend of fer the discount?

5 Shade a fraction that is

&=
AY I
0

1
equivalent to 2
RN
I 7
X

Find the sum.

6
TR R

7 | Which would best help you
measure the length of your back-
yard?

I

o Q)

"1

8 | I arrive to school at 8:15.
If T was 20 minutes late, what
time did school start?

9 | What is the fewest number

of coins you could use to make

H43¢?

10

what numbers will come next?

If the pattern continues,

1B MO 45,

[l | Solve for the unknown.

45+ =55

Which shape doesn't
belong? Why?

IndlU

Tuesday

| | The motorbike cost eight
thousand, two hundred forty dol-

lars. Write this number in stand-

2 | Round the following num-

bers fo the nearest tens place.

4,357

3 | Find the product.

53 X4=

4 [We sperﬁ $25L| on tick-
ets fo the amusement park.

While there we spent $39 on

of coins you could use to make

19¢?

what numbers will come next?

890,880,870, ;

foD=36

ard form. food and games. How much
987 . .
did we spend in all?
1,113
5 Shade a fraction that is b Find the sum. 7 | Which would best help you || 8 [We boarded the plane af
equivalent o % § N N § measure the length of your 2:05. The plane landed ot
. 0 . pencil? 3:05. How long was the flight?
— I 1 N e
1T ,
9 | What is the fewest number || 10| If the pattern continues, || || |Solve for the unknown. 12|  Which shape doesn't

belong? Why?

AU ANV

Created by Angela Ido




Wedhesddy

| [My grand parents live one
thousand, eight hundred four

miles from me. What is this num-

ber in standard form?

Round the following numbers

to the nearest thousands place.
4,357
4,987
1113

3 | Find the product. 4 | It cost $3,269 for my
family's airplane tickets. We
received a $125 discount.

How much is the cost now?

25X 7=

5 Shade a fraction that is

equivalent o 3

£ ! | ] | AN
\ I I I I 7
0 1

6 Find the sum.

D+D+D+D+ D

7 | What is the fotal of the bills shown below?

8 | What is the fewest number

of coins you could use to make

35¢?

9 | If the pattern continues,

what numbers will come next?

|
equivalent to T

B+B B+ D

5 12 19 Circle the number sentence that shows another way these could
be added:
$5+$5+85  $10+$2  $5+83
Thursddy
| | Write thirteen thousand, Round the following numbers || 3 |Find the product. 4 (There were 590 students
five hundred eight-six in standard | to the nearest thousands place. in school this year. Then, 67
form. 24 293 39x4= students moved. How many
12678 students are there now?
49,104
12,507
5| Shade a fraction that is 6 Find the sum. 7 |What is the fotal of the bills shown below?

8 | I read for 35 minutes. If I
started reading ot 6:45, what
time did I finish reading?

9 |Solve for the unknown.

O9x[_1=54

Circle the number sentence that shows another way these could

be added:

$5+%10 4+ 81 $10+$1+31+ 31+ 91
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3rd Grade Daily Math Review: Week 20 Name:
| | We traveled four thou- What is 159,478 rounded Solve. 4 | We need to save
sand, eight hundred ninety miles. | to the nearest thousands place? $4,360. So far we have
What is this number in standard H9X5=

form?

@ 4,809
(®) ug9
(© u.890

(@ 155500
(®) 15,000
(© 16,000

@235 (238 (© 245

saved $1,8392. How much

more money do we need fo

save?

@ $2468
® $2463
(©$6,252

5 What fraction is

|
equivalent o 7 ?

6 Find the sum.

+ T N

7 Which fool would best

help you measure the length of

8 | I sfarfed reading of
2:50. T read for twenty

the amount 52¢ ?

@ 2
® Y4
©5

134,130,126,122, __

@ 120
® 118
© 116

86-[1=76

@ 10
® 15
© 20

1] your shoe? minutes. What time did T fin-
< i 1! > ish reading”?
@ 3 3 3 @ a ruler _
@ @ 6 @_9_ @ 8 @ Q gordsjriCk % 51505
@ @ Q SCO|C @ 320
9 | What is the fewest number || 10 | If the pattern continues, Il | Solve for the unknown. 12 | Which shape doesn't
of coins you can use to make what numbers will come next? belong?

HEAPAN

Use the picture to help you solve the problem.

THE UNITED STATES OF AMERICA

Qm

¢
V.
ONE DOLLAR

THE UNITED SYATES OF AMERICA

® (4 6

ﬂ & THE UNITED STATES OF AMERICA .*
s )
ON DOAR

ONE DOLLAR

ONE DOLLRR

‘

the sum?

@ $5+%5
® $10+%$5

What number senfence could be used to find

© $5+%$5+%$10
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Answer Keys

squares

Week Monday Tuesday Wednesday Thursday Check-In
CGK 1. 2,089 1. 8,240 1. 1,804 1.13,586 1. C
20 2. 4,400/1,000/ 2.4,360,990, 1,110 2. 4,000/ 5,000/ 2.24,000/13,000/49,000/ |2. B
1,100 3212 1,000 13,000 3 C
3. 378 4.$343 3. 175 3.156 4 A
4. 2,096 5.4/8 4. 3,144 4,523 5 B
5. 3/6 shaded 6.3/4 5. 2/6 5.2/8 6. C
6. 3/3 or1whole 7 ruler 6. 5/5=1whole 6.4/4 =1 whole 7 A
7. Tape measure 8. 1 hour 7. $10+8S2 7.85+3$10 3 B
8. 7:55 9. 1 dime, 1 nickel, 4 8. 1lquarter,1dime {8.7:20 9 B
9. 1quarter,1dime, |pennies 9. 27,34 9.6 10. B
1 nickel, 3 pennies .
; . . 10. 860, 850 11. A
10. 150, 15
5 1.9, 12. C
11. 1 o1 %
12. trapezoid—it has 4 13. B
12. Triangle—Ithas 3 |sides.
sides and the other
shapes have 4
sides.
4
K 1. 14,167 /14,367 1.9,348 /9,548 1. 62,284 /62,484 1. 57,220/ 57,420 1. €
13,267 / 15,267 8,448 / 10,448 61,384 / 63,384 56,320/ 58,320 2 B
2. Martha 2. Luke 2. April 2. April 3 c
3. 6 3.3 34 3.4 i A
4. 3,330 4.3,796 4.2,093 4.515 5 A
5. 3/5 5.1 whole 5.1 whole 5.6/9 6. C
6. > 6.> & 5 6.< 7 c
. : 2 4 &6 8
7. 16 units 7. 20 units 7.3/8 76 B B 8 3. B
L. L.
8. 3 7Zinches 8.4 7 inches 8. 18 units 9 C
8. [
9. 51¢ 9. 26¢ 9.3'%inches 10. B
10. Add 3 9.16, 24, 32, 40, 48 11. See below
10. [
11. 14,21, 28, 35, 42 12, 18, 24, 30, 36
11. 12,18, 24,30, 36 .
12. 2circles 14, 21, 28, 35, 42
12. Rectangles and

16, 24, 32, 40, 48

12. A

13.B




3rd Grade Daily Math Review: Week 19 Name:
Monddy
| | Mark the most reasonable || 2 | Write the missing equation || 3 4 Find the sum.
location for the 310 on the for the fact family. 12 U= 20-5= 328+1.016
number line below. 4x9=36 12+3= 20 ly=
3 E & 9x4=36 _ _
Y a0 w0 36+9=4 16+4= 16+2=
5 | Shade %— of the circles. 6 | Put the fractions in order || 7 | How many inches long is 8 | The show started af I45.
least to greatest. the line? I am 20 minutes late. What
OOOQ 2 1 3 | > 3 m 51 |time do I arrive?
T 0 L

OO0

Lt bbbl

9 | I bought a hot dog for $3
and a drink for $2. Then, T
bought a t-shirt for $10. How

Insert >, <, or =to

make the equation true.

What is the rule for

the input/output table below?

12 |Circle the angles that

are greater than a right angle.

much did I spend in all? n ot —l
5x0 [J5x0 12 N
13
14
Tuesday
| | Mark the most reasonable | 2 | Write the missing equation |[ 3 y |Find the dif ference.
location for the 1,800 on the for the fact family. gol= 15+5= 5301-245
number line below. 5 6535 8-0= 191 =
Vi | 1 1 N\ 30+6=5 _ _
N ! — 7 30:5-6 15+3= 16+8=
1,000 2,000
5 |Shode % of the rechngle 6 | Put the fractions in order || 7 | How many inches long is 8 |l started walking ot 6:20.
least fo greatest. the line? I walked for 25 minutes. What
8 5 3 | > 3 m 5] |time is it now?
9 9 9

REERRENRRENEN

9 |I have four nickels and a

penny. My cousin gives me three
dimes. How much money do I

have now?

Insert >, <, or =to

10

make the equation true.

O0x 101100 +0

What is the rule for

the input/output table below?

In

Out

12 |Circle the angles that

are less than a right angle.

o~/
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| | Mark the most reasoncble  |[ 2 | Wirite the missing equation || 3 1]  Findthe sum.
location for 205 on the for o Pock Family 18-6= 18:0= 995+ 517
P i e 6x9-54  |18+3= 15+3=
> et |18+9= 10+2=
5 | Shade T of the circlos. 6 | Put the fractions in order  |[ 7 Favorits Dorid
000 bwb?M$2 6 RN Pyepp——
000 & 8 8 Glazed
Maple
8 | Houw many inchiss Jong s || 9 | Bskefbol prockise: sharts of Sprirkles |©@©©B@©@
the line? 6:15. We practice for 35 = 10 people

| 2 3 4 5

Ll bbbl

L]

minutes. What time do we end

How many people prefer maple donuts?

practice?
How many people prefer chocolate donuts?
What is the most popular type of donut?
Thursddy
| | Mark the most reasonable 2 | Create your own fact 3 Y |Find the dif ference.
location for the M5 on the family and number sentences to | 955 = 30=3= 782-78
number line below. match. 30+5= 30-10=
< t — 30+6= 16+2=
100 200
5 Insert >, <, or =10 6 | What is the rule for 7 Favorite Donut
make the equation true. the input/output table below?
quatio - e |r;f1ut output table below Chocoldls
Glazed
5x115x0
Maple
_ Sprinkles
8 | My dad gave me 2 quar- 9 Draw an angle that is
ters. [ already had 3 dimes. How greater than a right angle. = 10 studentd

much money do I have now?

How many more people like chocolate than glazed?
How many more people like sprinkles than maple”?

How many people like either glazed or sprinkles?
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3rd Grade Daily Math Review: Week [ Name:
Check-in
| What number is Z] What is the missing equa- || 3 | Solve. Tl Find the sum.
represented by the X? ~ tion for the fact family? 64~ 8= 4y3+1.207
1 v l N 8 6x8=48
\ } N I 7
500 600 —
48+6=8
@ 520 (® 540 (© 560 ® 1640
@ 46+8=6 (O 48-8=6 ®1,649
@6 ®s ©9 @650
© 6x48=8 (d) 6+8=u8 ’
5 | Wikick set has % shaded? || & | Which list puts the frac- 7 | How many inches long is 8 | Practice starts ot 2:30.
o the line? If I arrive 15 minutes lote,
tions in order from least to
seclad? 5 &7 5 |what time do I arrive?
@ AAAAAA ® | | | AN AR AT
ONVVVVVVVVYS L ® 2:35
© AAANAA ®3 ¥ % ® 2:40
RN © 245
@ R @ 2in @Bin @Llin

9 | I buy a hamburger for $6, || 10

popcorn for $4, and a drink for
$1. Which of the following

shows my fotal spent?

@ >

® <

Insert >, < ,or =to

make the equation true.

9x0 [LJ0x9

© =

[| | What is the rule for the || 12 | Which angle is larger

input/output table? than a right angle?

In :)But @ /
] |94
® Add | © |
® Multiply by 3
© Add 12

Use the pictograph to help you answer the questions.

Favorite Pizza

Cheese |O©@ OO
Sausage |©@ © ©
Pepperoni [©Q QO Q © ©
Howaiion | © ©

O = IO students

How many more students prefer pepperoni

pizza than cheese pizza?

@ 2
® 10
© 20
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Answer Keys

Week Monday Tuesday Wednesday Thursday Check-In
1. 8,921 1.42,876 384 1.20,376 1. C
8 2. $57,450 2.14,592 3,592 2.4,692 2. B
3. 5,192 3.8,920 7,999 3.12,200 3. A
4, 20 4.11 10 4.81 4. C
5. $807 5.$205 81, 16, 24 5.20,42,32 5. B
6. 45,8,50 6. 20, 30, 32 48,69, 12 36,40, 21 6. C
36,72, 15 42, 63, 40 117 6.528 7 B
7. $24 7.72 2/8,2/6,2/3 7.3/8,3/6,3/4 8 A
8. 2 8.8 1/5 8.3/6 9. A
9. 2/3 9.5/7 Equilateral triangle |9. Student should draw a 10. B
. rectangle or square. .
10. Trapezoid 10. square 11, Theck st
11. See student work. |11.See student work. dent work
12. S8 12.S15 12. C
13. B
eek |1 Checkstudent 1. Check student work. Check student 1. Check student work. 1. C
]_q j wark 2.6x5=30 Watie 2. Answers will vary. 2. B
- 36+4=9 3.2,4,5 24629 3, 5,6, 5 3. B
3. 3,4,4 3,3,2 3,6,2 10,3,8 4 C
45,8 4.5,056 eE 1 4,704 5 ¢
4. 1,344 5. Check student work. e 5.> 6. A
5. Check student 6.3/9,5/9, 8/9 Check student 6. Multiply by 1 or Add 0
work work. 7. B
7. 3 inches 7.20/60/ 110
6. 1/4,2/4,3/4 2/8,6/8,7/8 8. C
8. 6:45 8.80¢
7. 3inches 20/ 50/ sprinkles 9. A
9.51¢ 9. Answers will vary.
8. 2:05 4 inches 10. C
10. =
9. $15 6:50 11. B
18, = 11. multiply by 0 12, A
12. TWO acute angles
11. Add 9 13. ¢C
12. Obtuse angle
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